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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i)

(it)

(i11)

(iv)

(v)

(vi)

(vii)

(viii)

4.
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This question paper comprises two sections — A and B. All questions are
compulsory.

Question numbers 1 — 10 and 18 — 27 are very short-answer questions
carrying 1 mark each. They are required to be answered in one word or
one sentence each.

Question numbers 11 — 12 and 28 - 29 are short-answer questions
carrying 3 marks each. Answers to them should not normally exceed
60 — 80 words each.

Question numbers 13 — 15 and 30 — 32 are also short-answer questions

carrying 4 marks each. Answers to them should not normally exceed
80 - 100 words each.

Question numbers 16 — 17 and 33 — 34 are long answer questions carrying
6 marks each. Answers to them should not normally exceed
100 - 150 words each.

Answers should be brief and to the point. Also the above word limit be
adhered to as far as possible.

There is no overall choice. However, an internal choice has been provided
in 2 questions of one mark, 2 questions of three marks, 2 questions of four
marks and 2 questions of six marks. Only one of the choices in such
questions have to be attempted.

In addition to this, separate instructions are given with each section and
question, wherever necessary.

SECTION A
(Macro Economics)

Two components of money supply are and

(Fill in the blanks with correct answers)

Primary Deficit can be estimated using the formula

(Fill in the blank with correct formula)

is one of the most important sources of demand for foreign

currency. (Fill in the blank with the correct answer)

State the meaning of “Trade Deficit’.
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5. State whether the following statement is true or false :
“Government Budget is an important monetary policy instrument.” 1
OR
Disinvestment is a (capital/revenue) receipt of the government.
(Choose the correct alternative) 1
6. In order to control the money supply in the economy, the Central Bank
may
(Choose the correct alternative) 1
(A)  buy securities in the open market
(B)  sell securities in the open market
(C)  reduce cash reserve ratio
(D)  reduce repo rate
7. Effective demand is defined as
(Fill in the blank with the suitable definition) 1
8. State whether the following statement is true or false :
“Expected obsolescence is included in depreciation.” 1
9. According to the theory of Keynesian Economics, the value of Average

Propensity to Consume can never be
(Choose the correct alternative) 1
(A) zero
(B)  unity (1)
(C)  more than one

(D) less than one

10. State whether the following statement is true or false :
“As per Keynesian theory in an economy, full employment can never

exist.” 1

| 58/1/2 5 P.T.0.




11.

12.

13.

14.

15.

16.

“Tei3rg s 9 TR o ed sk g1 8 |7 feu U e 1 "yt deht
TR G99 37¥ET Wed hiftvy | 3

“sifom aeqeTt & Add had d TEE MHA Bt 7, S TEEe gR 3uN

&1 ATt 3 17 feu U a1 71 SR g gaed 31vet Wed IS | 3
T

“II 1 I JaTE g 39 qEUN W neia & foh we =afh g foRam e

S UL <l 3T ST 8 |7 foT T e w1 i i | 3

(a) oL ATM 3R NH AT H I T i |
(b)  USTd =9 o foRell T ISR I Seai@ HIT | 3+1

T HIcq(eh HEATCHe IQTELT 1 YA HId §Y, ATMUITSHR oo gRI GRg FHHfor

<1 fshar <Al ST ity | 4
St

“F b TIHR o SRt BT B KAl 7 |7 U MU wHum +1 foar @ 9k
HIT | 4

“SITIR GHAT GFRIH § R S DA I T B, Th Horeasd s agUser
FHEHET (MNC) 399 Icq1eT AU o1 Wd § T o & 8 |7

W hU % s #, faeslt ggr % varg i wnd srferan W ogEe
gurfad gurd R fewaeft Hifsre | 4

GATHI(hd 3T 1 AN i BY, auisy foh fhH TohR IUHIT o3k @ w=id o

9Ted Tomam ST &kl 2 | 6

shReafim o7t % g

(a) e o=d BeM S = (-) 10 + 0-2Y 8, @ U U = wad ¥ 39N
T ford YRR e ToRaT ST HehdT B 2

(b)  frEd s=d Y au HHd s=d TG H 3T T HIfT | 3+3
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11.

12.

13.

14.

15.

16.

“Ex-Ante Savings and Ex-Ante Investments are always equal.” Defend or

refute the given statement with valid reasons.

“Final goods include only those goods which are consumed by the

households.” Defend or refute the given statement with valid reason.
OR

“Circular flow principle is based on the assumption that one’s

expenditure will become other’s income.” Explain the given statement.

(a)  Distinguish between Tax Revenue and Non-Tax Revenue.

(b)  State any one example of Capital Expenditure.

Using a hypothetical numerical example, explain the process of credit

creation by a commercial bank.
OR

“Central Bank acts as the banker to the government.” Elaborate the

given statement.

“India is taking huge leaps in the index of Ease of Doing Business, as a
result many MNCs are shifting their production base to India.”
In the light of the above statement, comment upon the flow of foreign

exchange and its likely impact on the Indian Economy.

Using a well-labelled diagram, show how Saving curve can be derived
from Consumption curve.

For Visually Impaired Candidates :

58/112. 7 P.T.0.

(a)  If the Saving function is S = (=) 10 + 0-2Y, how can Consumption
function be derived from the given Saving function ?

(b)  Distinguish between Average Propensity to Save and Marginal
Propensity to Save.

3+1

3+3
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17. (a) Calculate the value of ‘Change in Stock’ from the following data : 4
Amount
S. No. | Items (in T Crores)
(1) Sales 400
(ii) Net Value Added at Factor Cost (NVApc) 200
(ii1) Subsidies 10
(iv) Change in Stock ?
(v) Depreciation 40
(vi) Intermediate Consumption 100
(b)  Define Real Gross Domestic Product. 2
OR
(a)  Discuss briefly the three components of ‘Income from Property and
Entrepreneurship’. 3
(b)  What are ‘externalities’ ? State its types with suitable examples. 3
SECTION B
(Indian Economic Development)
18. First Industrial Policy Resolution of Independent India was announced in
the year
(Fill in the blank with correct alternative) 1
(A) 1947
(B) 1948
(C) 1951
(D) 1956
19. State any one outcome of implementation of Economic Reforms in India
in 1991. 1
9 P.T.O.




20.

21.

22.
23.

24.

25.

26.

Farsy o Frfifea sem 9 7 31eE o
“Tol TERIAT g NIy A WS % 3 7 |7

g AR T8 (WTO) 1 qeradt e off |
(Tgt foepeu 1 ==A hifo)

(A) i gafdmior it foem s (IBRD)

(B)  AAUSE™ gl &Y (IMF)
(C) ¥R fiord s (RBI)

(D) AR AR T Yoh TEE (GATT)

“vad shifa” w1 319 fafe |
WA <hl JoM 1q g=asd AeHTel § ARG SR gRT Hifd =1 AT
HXE] 3TN o |Requl o forg feparm T o |
(T I gRT Tk T i gfd it
Ia Ffeiiad # @ form gefa/dfeeass sfele wvg o1 9ee 737 & ?
(T fashed =1 ==F i)
(A) I 99
(B) BRICS (fsrm)
©) G-20
(D) SAARC (dTh)
AT
gTfehEa = o H 9 TfYfeh Ui <l IETa i o |
(Tt Tashed =1 == shifore)
(A) 1974
(B) 1976
C) 1978
(D) 1988
Ue <fiv BiEe’ &1 g T 99 o (serfireh/fgciren/qefaes) &= |
st @ afg gifeea & o | (T farehed o1 = Hifvw)

warsu fop Fafefiad e oc & 1 38y .
“Trra oo <urepl O, WRA § WA & 3 aifaes TSR & STaER 309 fh
%l”
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20. State whether the following statement is true or false :

“Self-Help Groups (SHGs) are an example of a microcredit organisation.” 1
21. was the predecessor organisation to World Trade Organisation
(WTO). (Choose the correct alternative) 1

(A) International Bank for Reconstruction and Development (IBRD)
(B) International Monetary Fund (IMF)

(C)  Reserve Bank of India (RBI)

(D)  General Agreement on Tariffs and Trade (GATT)

22, State the meaning of ‘White Revolution’. 1

23. During India’s first seven five-year plans, the Government of India
adopted policy to protect domestic industries.

(Fill up the blank with correct answer) 1

24. India is not a member of which of the following regional/global economic
grouping ? (Choose the correct alternative) 1

(A)  European Union

(B) BRICS

C) G-20

(D) SAARC
OR

Pakistan introduced its economic reforms in the year

(Choose the correct alternative) 1

(A) 1974
(B) 1976
(C) 1978
(D) 1988

25. The main aim of ‘Great Leap Forward’ was to ensure rapid increase in
(primary/secondary/tertiary) sector in China.
(Choose the correct alternative) 1

26. State whether the following statement is true or false :

“In the past few decades, primary sector has created maximum jobs in
India.” 1

58/112. 11 P.T.0.




27.

28.

29.

30.

HIATIshiH A H fffiad gesti &1 =rafeua Hifse en fou mu fashedi &
4 g8 I 1 = hHIVT 1
(i) = SHETEl TURSY sh ST

(i)  OTfeREaT™ 1 fmor

(i) WA ! IAH GEEET IS

(iv) = sl 9w et Qe

faewey

A (1), Gv), (1), (iii)

B) (i), (i), (), (v)

(C) (1), (1), (iid), Gv)

(D)  (@aw), (i), (i), (1)

JY PN o HY IRG AR =4 & feu mu Afwet St ga 9 faveryo Hifw . 3

- SHEAT 6T AN Jhg o

2 (2015) (ufd &R g&9)
AR 1-2% 929
EiE| 0-5% 941

aq : fava foem™ Tehaws, 2015

“Ora gt fmior Fared™, STfasehR e dehdih! FURT I 9 <aT B |7

39 feU U Y 9 TgHd @ 2 41 dehl @ied 3799 IO ST gAY iU | 3
AAAT

YRd H U foeere i Uik H gmfior SdfeR syawen K ofHent Wi

STATEATCH oo hIFT | 3

(a)  STUSH g7 9RA | fopu U fortt Ueh HhNIcHss JTEH bl 3g@ <hifou |

(b) TaAAAI-gd WA % eFafeyd fa-eieifientr & i) el & It g @
g ? 1+3
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27.

28.

29.

30.

Arrange the following events in chronological order and choose the

correct answer from the given alternatives :

) Establishment of People’s Republic of China
(11) Creation of Pakistan

(iii)  First Five-Year Plan of India
(iv)  First Five-Year Plan of China

Alternatives :

(A) (@), (), (ii), (iii)
(B) (), (i), (1), (iv)
(C) i), (1), (dii), (Qv)
(D) (), (iid), (i), (1)

Compare and analyse the given data of India and China, with valid

reasons :
Annual Growth Rate of Gender Ratio
Country ]
Population (2015) (Per thousand males)
India 1-2% 929
China 0-5% 941

Source : World Development Indicators, 2015

“Human Capital Formation gives birth to innovation, invention and

technological improvements.” Do you agree with the given statement ?

Support your answer with valid arguments.

OR

Critically evaluate the role of rural banking system in the process of

rural development in India.

(a)  State any one positive contribution made by the British in India.

(b) What was

the two-fold motive behind the systematic

de-industrialisation effected by the British in pre-independent
India ?

13

1+3
P.T.O.



31. f=faRea #@ @ frgl g =t ufenfya Hifse .
(a)
(b)

(c)

242
qIaor hl TR &

YT <hl GTOT &THT
T @ (FeAr) gHE % ugl §)

32. “Yrd % Y: fava k1 SR YU sy’ el Sl 2 |7 WA 1 feu v 3| am

% &I HH ! ==l HIT |

AT

AT gfaeamd &1 31 faflgu | wose fifse v stmma gfaea@ frg dor

TXT] TN ohl L&V Y&H T Fhal & |

33. (a) YNd TWHR I AYY ASHT o Fad W arelt S: wRd Faferea
Yot (ISM) & AT} ST 3eai@ hiferT | 3
(b) WA ® % 9 o & foawr § grat 6 ygfat & fowem fif . 3
TR UGl shl TFHET (S5ER), 1993 — 2012 (UTevmEa H)
&% 1993 —94 | 1999 —2000 | 2011 —2012
Tt 64 60-4 48-9
FGIRE 16 15-8 24-3
an 20 23-8 26-8
34. (a) “Unfivr YRa % U Issaan AT Y@ aiEds @Woe |7 W Tl b
TRafes S B Seoi@ hife, e T wu A h fesn #
T .S, freiet fadwr dieHT (Issae AeHT) #E @ R |
(b) “TF H Sk FE &k U YRAT T YUTell hl STl o3 shl Tsh
SIferaemell G sl AEwIhdl 3 |7 W el g0 U U sed @i
it fiag T | 3+3
Jre
I TaTdT | 376 o hi~ad (T T TS IV HRIShAT o THOTH hi
ATATIATeHS THteTT HIfT | 6
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31.

32.

33.

34.

Define any two of the following :

(a)  Absorptive Capacity of Environment

(b)  Carrying Capacity of Environment

(c) Poverty Line (in terms of Calorific values)

“India is often called as outsourcing destination of the world.” Discuss the

prime reasons for this name given to India.

OR

State the meaning of import substitution. Explain how

substitution can protect the domestic industries.

(a)  State the names of six Indian Systems of Medicine (ISM) under the
AYUSH scheme of the Government of India.

(b)  Analyse the recent trends in sectoral distribution of workforce in

India :
Trends in Employment Pattern (Sector-wise), 1993 - 2012 (in %)
Sector 1993 -94 | 1999 —-2000 | 2011 -2012
Primary 64 60-4 48-9
Secondary 16 15-8 24-3
Services 20 23-8 26-8
(a) “Ujjwala Yojana has been a game changer for rural India.” State

any three conventional fuels being targeted under the LPG

cylinder distribution scheme (Ujjwala Yojana).

(b)  “Indian Health System needs a stronger dose of public expenditure

to cure itself.” Justify the given statement with valid arguments.
OR

Critically examine the results of Poverty Alleviation Programmes

implemented in India since Independence.

15
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3+3



